
gr 8 u2 int day 13 order of operations Tuesday Sept 27.notebook September 27, 2019

Warm Up Grade 8
Tuesday, Sept. 27

Section 2.5 Order of Operations with Integers
continued

4 ­ [ 18 ­ (­4) ] x (­2)

           2 x (­3)

Evaluate: (MUST SHOW WORK)
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SHEET

= 10 ÷ (2)

=  5
= ­16÷ (3 + +1)

= ­16 ÷ (+4)

= ­4

= ­4 ÷ ­2

= (+ 2)

= (­10)÷2

= (­5) 

= ­ 16 ÷ (­4)

= (+4) 

= 4 + 5

= 9

or  = 4 ­ (­5)

     = 4 + 5

= (­24) ÷ 6

= (­4)

= +3 +2

= (+5)

=­6 + (­5) +(+1)

= (­11) + (+1)

= (­10)

=(­60) ÷5

= (­12)

= 2 +(20) + 6

= 22 + 6 

= 28

= 3 + 6 ÷ 2

= 3 + 3

= 6

Homework Solutions for Friday's Class
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= (5 ­ (4)) x 3

= (+1) x 3

= 3

= 5(4 + 18÷3)

= 5(4 + 6)

= 5 (10)

= 50

= 2 + 5 ­ 2 ­ 1

=    7    ­ 2 ­ 1

=     5     ­ 1

=         4

= 5 ­ 2÷(5 ­ (3))

=5 ­ 2÷(2)

=5 ­ 1

= 4

= (7)(4) ­ 2

=   28 ­ 2

= 26

= (1) x 6(7)

=    6(7)

=  42
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= (­24) ­ 9

= (­24)+ (­9)

 = ­32

= (­1) + (­4)

=     ­5

= (­9) + (+8)

=    ­1
=(­3) [(­8)+(­11)]

=(­3)[(­19)]

= +57

= (­14) 

      2

= ­7

= ­12

    (+6)

= ­2

(­4) ­ 1

   ­5
=

= ­5

   ­5

= +1

=   36

 (­10) + 4

=   36

    (­6) 

=  ­6
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= (­10) ­ 63 ÷ (­7)

 = (­10) ­ (­9)

= (­10) + (+9)

=    ­1

=

=

= ­27

    ­9

= +3

(+9) (­6)
(­16)=

=  (­ 24)

    (+ 3)

= ­8
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You try

top Bottom

= 
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Page 97

      #2(a,b...MODEL), #3, #4(just the sign), 

     #5(a,c,d....show work for c,d using distributive property),

      #6(a,b,c,d), #7, 8 
&

Evaluate the following (Show work)
2 + [ 4 x (­2 x 3) ­ 10]

3 + 2(10) ÷ 4 

Test Friday, Sept. 27
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